Assembly Instructions For

NAJA BDPOSTHBQ 32359350 5935-3 QUEEN HEADBOARD GRAY

Manufactured for Rooms 1o Go. NAJA BDPOSTHBQW 32359374 5937-3 QUEEN HEADBOARD BROWN

NAJA BDPOSIFBQU 32759358 5935-7 QUEEN PANEL FOOTBOARD GRAY
NAJA BDPOSIFBQPW 32759372 5937-7 QUEEN PANEL FOOTBOARD BROWN

NAJA BDPOSIRSQK 32959352 5935-9 QN/KG RAILS GRAY
NAJA BDPOSIRSQKW 32959376 5937-9 QN/KG RAILS BROWN

Thank you for purchasing this quality product. Be sure to check all packing materials carefully for small
parts,which may have come loose inside the carton during shipment. Identify and count all parts and
compare with the HARDWARE LIST below.

Caution: Please read instructions thoroughly before unpacking assembly parts.

1.We recommend that you assemble this product with the assistance of another person; this will make assembly

easier, and will help to eliminate damage to the product or injury to persons during assembly.
2.Please do not over tighten screws or bolts until the assembly is completed.

3.Please put all parts on a non-abrasive floor before assembly, and follow the assembly steps to assemble your newly

purchased product correctly and efficiently.

190 * 28 * 28mm

NO. Parts List QTY NO. Hardware List Q' TY
A ’ Headboard 1 @5/16" x 18 x 2'L Allen Bolt 8
B Left headboard leg ] 1 @B Jum | @5/16" x 1.5mm  Spring washer 8

708 x 70 x 70mm @5/16" x @19 x 1.5mm Flat washer 8
C Left headboard leg 1

‘ 708 x 70 x 70mm Allen wrench 4 x 74 x 30mm 1
D / Head board bottom rail 1 9 #4 % 32mm Wood screw 8
E % Panel Footboard 1
STEP 2

F \ Side rails 2
G / Slats 4

Long support legs for 1
H| —> center rail and slat 4

190 * 28 * 28mm

Long support legs for
K center rail and slat 4

Page 1 of 5




RO@O®OMS Assembly Instructions For

H[@XEE) Y NAJA BDPOSTHBQ 32359350 5935-3 QUEEN HEADBOARD GRAY
Venutoctres for Foome 0 0. NAJA BDPOSTHBQW 32359374 5937-3 QUEEN HEADBOARD BROWN
NAJA BDPOSIFBQU 32759358 5935-7 QUEEN PANEL FOOTBOARD GRAY
NAJA BDPOSIFBQPW 32759372 5937-7 QUEEN PANEL FOOTBOARD BROWN
NAJA BDPOSIRSQK 32959352 5935-9 QN/KG RAILS GRAY
NAJA BDPOSIRSQKW 32959376 5937-9 QN/KG RAILS BROWN

OPTION 1

STEP 2

STEP 3

Leveler H

Page 2 of 5




RO@O®OMS Assembly Instructions For

H[@XEE) Y NAJA BDPOSTHBQ 32359350 5935-3 QUEEN HEADBOARD GRAY
Venutoctres for Foome 0 0. NAJA BDPOSTHBQW 32359374 5937-3 QUEEN HEADBOARD BROWN
NAJA BDPOSIFBQU 32759358 5935-7 QUEEN PANEL FOOTBOARD GRAY
NAJA BDPOSIFBQPW 32759372 5937-7 QUEEN PANEL FOOTBOARD BROWN
NAJA BDPOSIRSQK 32959352 5935-9 QN/KG RAILS GRAY
NAJA BDPOSIRSQKW 32959376 5937-9 QN/KG RAILS BROWN

STEP 4

COMPLETE

Assembly completed

MADE IN VIET NAM

Page 3 of 5




RO@O®OMS Assembly Instructions For

H[@XEE) Y NAJA BDPOSTHBQ 32359350 5935-3 QUEEN HEADBOARD GRAY
Venutoctres for Foome 0 0. NAJA BDPOSTHBQW 32359374 5937-3 QUEEN HEADBOARD BROWN
NAJA BDPOSIFBQU 32759358 5935-7 QUEEN PANEL FOOTBOARD GRAY
NAJA BDPOSIFBQPW 32759372 5937-7 QUEEN PANEL FOOTBOARD BROWN
NAJA BDPOSIRSQK 32959352 5935-9 QN/KG RAILS GRAY
NAJA BDPOSIRSQKW 32959376 5937-9 QN/KG RAILS BROWN

OPTION 2

STEP 2

STEP 3

Leveler /H
%ﬁ
!

.§/K

el

Page 4 of 5




RO@®MS

10 GO»

Manufactured for Rooms 1o Go. NAJA BDPOSTHBQW 32359374 5937-3 QUEEN HEADBOARD BROWN

NAJA BDPOSIFBQU 32759358 5935-7 QUEEN PANEL FOOTBOARD GRAY
NAJA BDPOSIFBQPW 32759372 5937-7 QUEEN PANEL FOOTBOARD BROWN
NAJA BDPOSIRSQK 32959352 5935-9 QN/KG RAILS GRAY
NAJA BDPOSIRSQKW 32959376 5937-9 QN/KG RAILS BROWN

STEP 4

COMPLETE

Assembly Instructions For
NAJA BDPOSIHBQ 32359350 5935-3 QUEEN HEADBOARD GRAY

MAD

Assembly completed

E IN VIET NAM

Page 5 of 5




	Positano -AI- 2021.03.06-panel 1.pdf (p.1)
	Model

	Positano -AI- 2021.03.06-panel 2.pdf (p.2)
	Model

	Positano -AI- 2021.03.06-panel3.pdf (p.3)
	Model

	Positano -AI- 2021.03.06-panel4.pdf (p.4)
	Model

	Positano -AI- 2021.03.06-panel5.pdf (p.5)
	Model


